
���������	��	�
��������
������	������	
�����
������������
��	�
�
��
�����	������

�
�
�

��������	���
��
�	���	��
�
��
���
��	�
�
�
�����
 �
��

�
�	��
�

��	���������!����
�	���	��	�
�
�
�����"�	�����	
������������

�

�
�

���#���#�
�

�	�
����������$����������������
����

���������	��	�
��������
������	������	
�

����
��� ���� 
��� �����
��	�
� ��
�� �	� 
��� ������
���� �����$�� � $�
�� �����
���

	����
����
����
��	���� 
����	���
��	�����
����
��	%�&���������� 
�������
������

��
��
�	�����	����	�
������	������
��	����
��������
���	����
����
����
��	�$��	�


�����	��	
��
��	�������
��� ����	 	�$	%�����		�	��$�
���������������� �����

�


��� �	 	�$	� ������
����� 
��� ����
�	�'�����
�	��'������
�	�� (���)�


���	�*��� �������� 
����
��	� 
������
�����������	�
����
����
��	���� 
������	���

���	
%� #�����
���� ��� �

��
��
��� ���	�� 
���$�	�� ��
�� (&��+��,�� �
%� �
%(-../))%�

#�����
������	��������
��� 
����0����
�������
��
��	�� �	0�
0�	����
���	��
���

�	��
�	������
���	����	���������$�
�������
��	�
�����	
�1
�����
�
��
���
���������

��	
��
��	��������������	
��
�����
�	���	���
����	���������� �	���	+�	�
��	�$�
��

��	
��
�����
�%���



���������	��
�

#��� �	��
� ��� �	� �����
� ���	���� $����� ����

�� 
����� 
�� ����� *��
�
��

������
�����������	���	�	�$�������������	��	�
����	���
���
���	
�1
%���0���
�

��� 
��� 
���	�*�������������������	
���	���� 
��������	���
�
��
���
���������

��	
��
� (���)� ���� ���� ���
�� ��
��
��	� ��� �	�� �����	� ���	��� �	� 
��� ��������

������
���%� ����� �1���
��� ���� ���$���
� ��	
��
� ����
�� �	�� �
�� 0����	
���

����������
���2&"������
���
�%�#����������������������
�	���	�
�����	
�1
����

���� ��� 
����
��
� 
����������	������������������	����	��� �	� 
���0�
��������

�������� ������
��� ��� *��
�
�� ������
����
��� ��� *��� 
�� ��� ������
�%�&����

�

�	�� "�	
������� (-...)� ��	������ ���	��'���	
� ��
���
��	� ��� �	� �����
�	
�

���������������	����%��
��������
%��
%�(3444)���0���
���������
�����	
������

���
�����
���
����	������	
��	�����
��������
�
���
����%��
���������	
����
�
��	�
���


��
��
���������
�
��	����
������	������	
�����
��������0�	������������(-.//)��

������	�
� ���	������ ��	��������
�� � ������
�
��	� � ���
$��	� � � 
��� � ���������0����


���� � ���*��	���������0�
��	��$������� ��� �
���� ��
���������	
� � ����� � 
����

����
��
���������������
�%�#�������
��������
��
�	��$��
�����
��

�
����������

���	
���������
����	����	�����0�	���
���
�
������
���
�������
��������
��
�	��


������	������	
����������0����� 
�
�����

�	
��	%�50���
��� 
��
� ���
��������
���

����
����������	��1���	����1
�	��0�
������
����������� 
�	������
�%�#���
$��

���	��
���������$�� ����
��	�
��
���������
������
'���$�
��	����
����
����
��	�

���
����	���
��	�����
����
��	��	��
���	�	'������
������
'���������������	����

�	�� 6�� �� (-.78)�� � 9�	 
��� (-.:4)�� � ��	� � �	�� � ���0��
�0�� (-.:;�� -.:/���

-.:/�)�����	��	�����
��(3444)��
�%��#��������	��'���	
�������
���������������

����
�������
���
�����	�����	�����	��
������	
�1
��������	������
'
������	���	
������

$�
�������
��	�
���
����%�%��	����
���
��	������
�
�	���
�����
����
�����
���
��
� ��



$�	��������
��	������0���	
�������������������������
��	��������� ������
�����
�

�	�� ��������� � ���	���	�� � (
� �� � ��������	� � ���
��)� �
�%� !������� (-.<7)�

�	�
��
���$�� � �	� 
��� ��	
�1
� ��� �����
��	�
� ��
�� �	� 
��� 	�	'������
���� ������

$�� %�����	�
���
�	����������	�
����	��
���������
����
������	������	
�����
���

���� �	� �����
�	
� ��
�� ����	�� 
��� ������ �� (��
������
�0�� �	�
����� �����)� ���

��	
��
�����
�	�%�#�����	�
���
��	������	
��
�����
�� �����	��
���0�����
����	��

����	�
��	�� ��� ����� �������
��� �������� ������
�
�� �	������ ���� ���������� �	�

!����(3443��3448)%�

��

�	�
����������$����������
������	������	
�����
��������	��
���0�����
����	�
���

������
���������$�� �$�
�������
���	����
����
����
��	�(�
�����

���0�	�"�����

���
����
��	)��
������
�����
������
����
��	����������
��	�
����
���$�
���������
�
��

��	��
����	�
��	���0�	������

�����

� ���

�
�	
� µθκ

κπκµθ −

= �
�

� � πµ �� <≤ �� �>κ �������������������������������������������������������������������������������������������

$����� ��� κ� ����
�����������������
���	�
��	����������4%����
����	��
�����	����

0�����
�Θ ��

�$��
��������
���	����
����
����
��	�$�
��������
���� κµ ��
� �
��	�

$��$��
�� �	�� κµ��Θ %�#���������
���µ �����

���
������	������
��	��	��
���

������
��� κ ��� ��

��� 
��� ��	��	
��
��	� ������
��%� � #��� �����
��� 	����
�

���
����
��	� ��� �� �����
���� �	�����
� ���
����
��	� $�
�� ����� �
� µ %� =��� �����

��
��
�� �	� 
��� �����
��� 	����
� ���
����
��	� 
��� ������� ���� 
�� � �	
��

>����
����� ���	����	���
��(344-)%��









�	��

�������



5	�� ��� 
��� ���
� ����
��� 
��
�� ���� ����
�	�� ������ �	����	��� ��� 
��� ������

����
��%��	�
�������
��	�$����������
�����	�
���
��	����������������
�������
�����

���	������	
�����
�������
������	������
��	����
��������
���	����
����
����
��	�

�	�����	
���
�������������

�����	���	
����� �	����	�� 
������������%� ������	�

�	�� &�
 ��� (-...)� ����	�
��
�� 
��� ���� ��� �
��
����� 
�
�	
� 0�����
��� 
��

��	�
���
� �� ������ ����
��� ���� �	�
����� ��� �����
��� ��
��� ��0�	�� 
��� �����
���

	����
����
����
��	�����
���	���
��	�����
����
��	��$����������

� ��

���	��
��	�
�

���
����
��	������ 	�$	�
���%�&�������	��������������
���
��
������
����	�
���
�

������������
�������
������	������	
�����
���$�
�������
���	����
����
����
��	�

���
����	���
��	�����
����
��	%�#�����
��
��������0�	���
�$%��

�

�!�
� 
��� +��	
� ������ ���
����
��	� ��� �			� �� �κµµ ����������

�������			�
����������������

���

�
������ �����	 ����
�

<−−−∝ µµκµµκκκµµπ ������������������������������?(-)�

$����� ���
 ������������
�
���������	�
��	��	�@-�3�?�	A�� �� ��� < ���
����	����
���

��	�
��	� ��� 
��� �0�	
� �	� �� < �	�� 	�� 				 �

���� µµ ���� �

� ��	�
�	
�%� �	� $��
�

��

�$�� ���� $�

� ��	�
�� 
��� �	����
��� ��	�
��	� ��� 
��� ��
� � %� #��� ���
������

���
����
��	���� �			� �� �κµµ ���
��	�

��������������	���	�			� ��

��������������

����
������ �����������
� ���� ���

�
 ==+<∝ −−− µµκθθκµµπ µµκµµκ

��������������������������������������������������������������������������������������������������������������������?(3)�

$������������ ���	�� �� ��� µ ������
��	��������
0�	������

�	����
��
������
���

��� �*��
��	�� ∑
=

+=
�





�� ��
�

���� ��������� θµµ �	� ∑
=

+=
�





�� ��
�

���� ��������� θµµ ��

���	�� �� ��� µ ������
��	������ ��
0�	�� ����

�	����
�� 
��� ���
������ �*��
��	��



∑
+=

+=
�

�



�� ��
�

�

���� ��������� θµµ �	� ∑
+=

+=
�

�



�� ��
�

�

���� ��������� θµµ %� &�� 	�$�

�	
������� 
�
�	
� 0�����
��� �� ��	��ν	 �	�� ����	�� 
��� +��	
� ���
����
��	� ���

�						� �� ��� νκµµ 
������

���

��

����������������

��

�

��������

���������

����������						�

κ

µµκµµκ

µµν
ννκµµ

���

������

�������

�����������
���� ������

−−

−+−−+−

==<

+<<<∝

��������������������������������������������������������������������������������������������������������������������?(;)��������

B�
�� 
��
� 
��������	�
����
����
��	���� �			� �� �κµµ �����������
��
���0�	� �	�(3)�

���0�%�B�$���	��� �

�

�

�

� �� ��

�

�

� �������� −
∞

=

==∑ λκλκ ��$���� %�#��������� 
������0��

+��	
����
����
��	���	����$��

�	�����

� ∏∞
=

−−

−+−−+−

==<

+<<<∝

�

�

��

����������������

��

�

��������

���������

����������						�

�

��

������

�
�

������

�������

�����������
����

κλ

µµκµµκ

µµν

ννκµµ
�

��������������������������������������������������������������������������������������������������������������������?(8)�

�	
������	�� 
��� 
�
�	
� 0�����
��� ��� ��	��	����	� ��=� $�� ����	�� 
��� +��	
�

���
����
��	���� �								� �� ����� νκµµ ����

∏∞
=

−−−

−+−−+−

<<==<

+<<<∝

�

�

��

����������������

��

�������������

����������								�

�

��������

�

�

�

��

������

�
�

������

������������

�����������
�����

κλ

µµκµµκ

µµν

ννκµµ �

��������������������������������������������������������������������������������������������������������������������?(/)��

�
� �������� 
������ 
��
� 
��������	�
����
����
��	���� �			� �� �κµµ ����������� 
��
�

��0�	� �	� (3)� ���0�%� #�� ���
���	
� 
��� ������ ����
��� $�� 	���� 
��� ��

�

��	��
��	�
� ���
����
��	�� ��� ����� ��� 
��� 0�����
��� ��0�	� 
��� ���
%� #����� ����

��0�	���
�$%�!�
����	
)� ��	�
�� 
����	���������
����
��	��	� 
������	� �	
��0�
�

(���)%��

(�)� #�����

���	��
��	�
����
����
��	���� � ��� �	�� �−��� %�



(��)� #�����

���	��
��	�
����
����
��	���� � ��� ���������	�� ��� ���� µµκ −+ %�

(���)� #��� ��

� ��	��
��	�
� ���
����
��	� ��� �µ ��� �	� ��� $�����

��������������	� �

�� −>−== − ����� �� κµµµ �

(�0)� �#�����

���	��
��	�
����
����
��	����ν ����

������������ ������� �� =<−+ ������	������ ��	�����������	�� ��� µµκ %�

(0)� #��� ��

� ��	��
��	�
� ���
����
��	� ��� �µ ��� �	� �	� $�����

��������������	� �

�� −>−== − νκµµµ �� ��	� ��� �� < ��	�� �� µµ = ���

�� = %�

(0�)� #�����

���	��
��	�
����
����
��	���� 	����	�	 =��� ��� �	��
��

��
��

κλ− %�

(0��)� #�����

���	��
��	�
���	��
������ �����0�	�����

����������� ������������ ���

�

�

�

�
�

��

	 ������� −−− −<<∝ κλ �

(0���)� #�����

���	��
��	�
���	��
�����κ �����0�	�����

����������� ������������ ��� �

	

��

	 =∝<∝ −+− ������	������ �������� ��� �� κκ κκ �

�����������$������

�����������

������������

�
��������

���
��

��������

���
�

�

�

�

������

�
��

�

����

��

��

�
�

−−<∩

−+
>∩

−+
>=

λκ

µµ
νκµµκ

�����

�

�����������������	���

���������������� �������������
��������

���
� �

�

�

���

�
��

�
��

��
�

�
� −−<∩

−+
>= λκµµκ �

(�1)� #�����

���	��
��	�
��������
�
���������	�
��	���� � �����0�	�����

�����������

∑
=

=
�

�

	

�����

�����
�


�

��

��

�								�

�								�
��

�

�

νκµµ

νκµµ
� �



#�������������
�����	�	�$�������
���	
���*��
������
�%��

�

�	� 
������0��$����0�� 
����� 
�� 
�� ��
� 
�������������
����
�	�� 
��������


�	��� ��� ��������	� �	��&�
 ��� (-...)%�9�$�0����$�� ��0�� 	�
� ��
� ���	�

��
�� 
����
��
���� 
���	�����������	��
��	������ 
�����������
����� 
�������	%�

&�� ���
� 
��
� �	� �	� ���
�� 
�����
���
� �
���� $�

� ��� ��*������ 
�� 0������ 
���

�1��
�	���������
�
��	�������
����
��	����� 
��������	%� �	� 
�����������$��
����

��0��
������
��
�
�����
���
����
���	�����������	�
�������������$�������	�

�������
�����
���	
����	�����
���%�




���
	�
������
��	��
�������




!�
� �ΘΘΘ 	���		 �� ����	����	��	
������0�
��	�%�&�������	
����
���
��
��
�


�������
�������

�	��������
��� !�	���		� ���� κµ�� ΘΘΘ �

����	�
�
����

��	�
�0��

���

	���"!�� ���		��������
��� !�	���	���
��	��������
��� !�	���	� �������

−≤≤
≠ΘΘΘΘ +

��

�� ��� µµκµκµ

�

#��� ������
���� ����
�		 �� κµµ ���� �

� �	 	�$	%� !���� (344-)� �	�
����� 
����

����
�������������*��	
��
��������
�0���	������������	�B�'
����
��
�����
����

����
��%� �	� 
���� ������ $�� 
� �� 
��� �������	� ���
�� ���	�� 
��� ����
�	��

�����
�	���������
�	��(���)�
���	�*���
����
��	�
������
���������
����
��	����


������	������	
%�#���������������	�
�����	
�1
�������	������	
�����
����0�	�

�	�
���
�	������
'�������	�
����	������
������0����
���	�
���
�
���
���%���

�



�	�
���������
����
������������(+��	
)����
����
��	������������������
����	 	�$	�

������
���%� ����
��� ���� 
��	� ���$	� ����� 
���� ������ ���
����
��	� �	�� 
���


� �
������ ��� ��
��
�
��� ���� ����� ����� ����
�%� #��� ������ ��� 
��	� ������
���

���	��
���
� �
����������$����
�%�#���������
����	�
�
�
���������
�������
���

���
������ (+��	
)� ���
����
��	� ��� 
��� ������
���%� #��� ���
������ ��� ����� ��� 
���

�	 	�$	� ������
���� ��	� ��� ��
��	��� ��� ��	��	�� 
��� ���������
�� �����	�
�

���
����
��	%� =��� �	� �
���	
� ���������	� ��� ������
����
���� 
��� �����������


�� ��	
�����
���	����
��	��(-..3)%��

�

&�����
������$�
�� 
��������� +��	
����
����
��	���� ����
�		 �� κµµ �
� �	�
�����
���

������
� ��� 
��� ����� �	��0����
� ������ ���
����
��	�%� #��� ������ ���
����
��	� �	�

�� ���
� µµ ���� ��
�� 
� �	� 
�� ��� �����
��� �	������� 
��
� ��� �κ ��� 
� �	� ���

�1��	�	
��
�$�
����
��-��	��
��
���� �� ���
� �	����������
���	�����@�	�	
	�A%��

#����
���+��	
����������
����
��	���� ����
�		 �� κµµ ����

�

��	�	��		���	�	
#

�			� ����� ><≤==
−

κπµµ
π

κµµ
κ

��
�

�
�
 �

�

�
����
�����	�
���
��
� �� = ����
����
��
�
��������	�����	������	
��	�
�����
����
%��

#���
� �
��������	�
��	�����

( ) � ��������������!$%
���

�
�	���	
�			� �

�

�

��

���� ≠







 −+−= ∑∑

+==

µθµθκκπθθθκµµ 


�

�





�



��

�
��

�

�	���



( ) � ���������!$%
���

�
�	���	
�			� �

��

���� =







 −= ∑
=

µθκκπθθθκµµ 


�



��

�
��

�

=��� ����� ������ ����
��� ��			� �� 



 �κµµ $�� �

���� 
��� $����
�

�	���	���&'! !

�
�			��

�
�			��
��

�

��

��
��

�

����









��

��
� θθθ

κµµ
κµµ

==

∑
=

�

�

�
��	���� ��� 
��� 	������ ��� ������

����
������$	%�&��
��	�������
�� 
�������������
������	�� 
���$����
�� 
� ����


����� 
�� ��
��	� �� ����
�� ��� ��C�� �� ����� 
��� ���
������ ���
����
��	� ����

����
�		 �� κµµ %�

�

�

��������



�	�
�������
��	�$�����
��
������0����
����
����
������
���
����$�	�������
��	��

��0�	����&��+�����
%��
%�(-../)%�#�����	0��
���
���
��������C�	
�
�����
����
��	�

$�	�����
��$�
��	�
�����
��
���
������	���	
�������	��
�����
������������������


����� ���	����%� �� ���
�� �1������	
� $�
�� ����� ��	��� �	�����
���� �	� 
���

0��
����� �	���	�� �	� 
��� ��	
����� ��� �� �*�����$��� � ���������� � 
�� ��
��	� 
���

	��������� ��
���
%� �
���
����� $���� ��
��
��� �	� �� 
�����
� ����'
� ��

�������	����	�
���
������
����
����������%��

���
����������
����8:�DD�����EE�

$��� ��
��	��%� 2	����
�� �0������� ��� 
����
�	
� 
������
���� �	�� � ����C�	
�
��

�	���0��
���
���0�
���
������$��������	�
���
��������	����	��
��	�
�����
�	���	��

�
�� ��0�����	�����

�$������������������
�	��
���	�*��%�&�������	
����
����	�


�������0��������
��������
��	�����
�������C�	
�
�$�	�����
�����������������
���

�	�����
��� ��
� � 
��� ���	
����� ���� 
���;3���	����
��� 
����	����
���0�����	��

���������%� #��� ��
���� � ��� ��	�
���
��	� ��� 
��� ��	�� �	�� 
��� � �	����
���



�0�����	�� � ���������� � ���$� 
��
� 
��� ��	�� ��0�� �� 
������
� ������	�%� &��

��
���0��� 
��� ��
��
� ��
�� ����� 
��� ��������
� �������	
�
��	� �����	
��� �	� 
����

�����%� 21�
���
���� ��
�� �	�
����� ��	���
��� �	� 
���� ��
���
� ���	�� 
���

���	�������� �	�� �����
��� �������	��� 
��
�� � ��0�
����� �	� !���(344-)�

�	����
���
��������	������
$�����	������	
�%��

�	�
����������$����
��	�
������
���������
����
��	����
�������
����	������	
����	��

���%������	������������
�������
����

���	�
�������������
�������$�����������

�	�
� 
�	�
���
��������
��	��	�
��������
����	�
�������0�	����
�����������	��	��

�����0�
��	%� #��� �����
��� �������	��� 
��
�� ��� ��	�
���
��� ��� ��	������	�� 
���

���	��� ��� �����
��	� ��
$��	� 
$�� ��������0�� �����0�
��	�%� =��� ��%� ��� �θ ��	��

�+�θ ����� 
��� 
$�� ��������0�������0�
��	�� 
��	�$����	������ 
����������	��� 
��

������	"���� �� ++ −−− ���� θθπθθ %� #��� ���	�������� �	�� 
��� �����
��� �������	���


��
�� ���� ���	� �	�������
��� �	� ���#��� (��	���
��� -..7)�� �� �
�
��
���
�

��� ��������
����	�
�������������
��	�
���
�%���=����
������	��������(=������

-)��	��	�
�����
��
�
���������������
��
$�����	������	
���	������	��-:��	��


��� �
���� ����	�� 3;%� ��	��� $�� ���� �������
�� �	
����
��� �	� 
��� ���
������

���
����
��	����
�������
����	������	
�
�����
������	��
�������	�����	������	
�

=���-F����	�����������$�	����
���



$�������

��%��#�����$����	�������	
��
��������0�
��	�	�������-�
��33���������

�	�
����%� #��� �����	�
� ���
������ ���
����
��	� ��� 
��� ���	��� ���	
� ������ �	�

7./--�����
��������
������
������+��	
����
����
��	������0�	���
�$�(=��%�3)F��

�

�

�

�

�

�

�

�

�

�

�

�

�

���������=���3�F����
���������
����
��	�������	������	
�����$�	����
��(5��	�%�-'33)�

�

=���� 
��� ���0�� ���
������ �����	�
� ���
����
��	� $�� ���� 
��
� 
��� ���
������

�������
�
�� ��� 	�� ���	��� ��� *��
�� ���

%� � #��� ���
�����������	� ��� �
� -3�� 
���

���
���������������
�-8���	��
������
���������	����-4%/:%�#��������1���
�
��

.4G����
������������
����
����
������	������	
����@3��8��-4��-3��-;��-8��-/��-:A%�

#��� �����
��� �������	��� 
��
�� ���� 
���$�	�� ��
�� (5����0�
��	�� -'33)� ��� ��0�	�

��
�$�(#��
��-)%��




��
���	��
����	���
�	
��	���	��
��
������
��	��


4

4%4/

4%-

4%-/

4%3

4%3/

- 3 ; 8 / 7 : < . -4 -- -3 -; -8 -/ -7 -: -< -. 34 3- 33 3; 38 3/

�

�
��

�
�

������������������������������������������������������������




� ����� 
� ����� 
� �����

-� 3� <� 7� -/� ;-�

3� :� .� -;� -7� <�

;� :� -4� <� -:� :;�

8� ;� --� -4� -<� <�

/� -� -3� -4� -.� 3.�

7� <� -;� .� 34� ;3�

:� 8� -8� -.� 3-� 33�

�

#��
��-�F������
����������	���#��
������&�	����
��(5����0�
��	��-'33)%��

�

#������0����
���
� ����	�
���������������*��	
��
�0��$���	
� �	�!���(344-)%��
�

��������
���
�����	�
��
�$��	�!������,��	�	'������
����
��
�(!��������-.<7)�

������	�
�����	������	
�������
����
��
������
���
��
��	����
���
��������	��������

���	������	
��
�/G�
�0�
�������	�����	����	�����	
������-;����
������	������	
%�

&��	� 
���B�##����������
���� 
��
�����0����	���� 
���������
��	���������
���

	����
�
�� �	�!���(344-)�� ������
����
��
����������
���
� �
� ��
����	����
���
���

�����	���������	������	
��
�/G�
�0�
�������	�����	����	�����	
������-:����
���

���	������	
%���
�����	
����
�	��
��	�
��
��
���
��-;��	��-:������	�
������	�
���

.4G����
������������
����
��������	������	
���	
��	������0�%��

�












�������	��
������




�������0�������0��������
������������������	
�����
��	����������
��
���
��	������

���	������	
�
��������1���	�
��	����
������
�����������	�
�����
����
��	����
���

���	��� ���	
%� #�����
���� ��	� ���0�� 
�� ��� �	� �1
����
�� �����
� 
��
� �	� 
���

��	
�1
� ��� ������ �� �
������ ���� ���%� 20�	� �	� ������ ��� $��	� �	'
�	�� ��	
��
�

����
�	�� ��� �	���������� 
�������
�������	���������0���������
��
�� 
�� �������


���$�� '
�������
������������	��	�����$��	�����	
��
�����
��	����
����	���
'

��'��	
��
� ��	��
��	%�#������������	��	����� ��	� 
�� ��
� 
������	
��$�
�������

���
������ �������
�
�� ��� ���	��� ����� �	
�	��
�� 
��	� �������	�� 
����� �����
�

�*��

�� �0��� �

� 
���� ���	
�� ��	��� 
��� 
���� $��	� 
��� 
��
� ��
� ��� ��	
��
�

��	��
��	�� $���� ��
��
��%� #�����
���� 
������ ���������� � �	� 
��� ��	
�1
� ���

�����
��	�
���
���	�
������������	��������
�����
����
���
������
'����
� ��	����
�

����1��	�	
��
%��
���
�����
������	��������
������
�������
��������$��	�
���

��
����
����������
���
����0����

��
�����	������	
�%��



�

����������
 


-%� ���	��>%��	�����
����%��%� (3444)F�������������������������������������

������������� �����������
�	%�

3%� ����	�����9%��	��6�� ����%�(-.78)�F�2�
���
�	��
���������	
�����	��������

	����
� ���
����
��	� $����� ��� ���+��
� 
�� ���	���� � �	� � 
����� ������� � ���

�������������������������;/��...'-4-<%�

;%� �����	���%��	��&�
 �����%�(-...)�F��� ��

��������	��	�
�������������
���

��
�����	��
���0�	�"��������
����
��	�� �������!����"�#��������������������

3:��3��3.-'3.<%�

8%� >����
����� ��� �%� �� �	�� ��	���
��� �� (344-)F�  �$���� ��� ����#����

������������&��
������	
��������	�������

/%� !����� �%� �%� (344-)F� ���$$���� ��!� ������� ������ ���
����� %����

&�����������&�������%�%�
��������	���	��
�
��
���
��	�
�
�
�����
 �
����	���%��

7%� !����� �%� �%� (3443)F���	
��
� ����
�� ���� �	��
��� �����0�
��	���������������

�����!������'#������(�$��)������(2��
����'��%�%��������%����

��+����	��

�%��%����

��������)��;.'8/�����H�����
 �
�%�

:%� !����� �%� �%� (344;)F� �������� ������
�
�� �	������ ���� �	��
��� ��
���

�����������������!���/(3)��;-'84%���

<%� !��������=%��(-.<7)F�#������	��������	
�������
��������	��
�����
��F���

	�	������
�������������� ������������	��3<��;.-';.:%��

.%� B����	�� >%� (-./.)F� 5�
���
� �����
�
��� 
��
�� ���� �������
�� �
�
��
���
�

����
������� � ���
�
������ ��!� ����������� � ��� *����!� � ������� +��#��,���

�
�*0��
��	��&� ��

��I����
����$���	��3-;'3;8%�����



-4%��������2%��%�(-.//)�F���
��
����������	����	���������
����������	���
��	�

�	 	�$	�
�������	
���-������������83��/3;'/37%�

--%����	�� �%� �%� �	�� ���0��
�0��� "%� �%� (-.:;)F� 5	� ��

�0����
�� 
��
�� ����

��
��
�	�����	����	����	���������������;/��-:;'-</%��

-3%����	���%��%� �	�����0��
�0���"%��%� (-.:/�)F�5	� 
��
�� � ���� � ��
��
�	�� � ���

���	���������	��������������������������;��.<'-4<%�

-;%����	�� �%� �%� �	�� ���0��
�0��� "%� �%� (-.:/�)F� ����� �	�'������ 
��
�� ����

���	����	�
�0�
��� ��������������-:��7-'78%�

-8%����	���
����%� (-..7)� F����#���J����
�
��
���
���� ���� ���������
��	�
�

��
���	�
�������	���	��
�
��
���
��	�
�
�
�%��

-/%�����
��� �%=%"� �	�� ��
��	��� �%2%� (-..3)F� �������	� �
�
��
���� $�
���
�


����F� �� ����
�	�'������
�	�� �������
�0���  ��� ��������� ���������������

87��3��<8'<<%��

-7%���
��������6%������	�
����"%�%�����	��#%�%��	��&����

��&%�9%�(3444)F�

#��� �
�
�� ��� �
�
��
���
� �������� ��	
��
� ��� $�� �������� �	
�� 
��� 3-�
�

��	
�����"�#����� ��� �������������������������������������� ./�� 8/-�� ..3'

..<��

-:%�&��+����� 2%�%�� K�	� ��
��	�� �%�� K��
��� 9%=%�� �	�� "���
����� �%�%�%�%�

(-../)F�#����������
������C�	
�
�$�	�����
��$�
��	���	0��
�0���
���
�����

���
����
������������������
������"�#�����������������$����������������

/3��;<77';<:<%��

-<%��&����

��&%�9%� �	��"�	
���������%��%� (-...)F���������� ������� �	��

�������	��
�
��
���
�����������	
��
��"�#��������'#������ ������������;-��8���

;:7';<7%��

�


